Name: Date:

Teacher: Class:

Addition and Subtraction 403

Why did the barber win the race? Because he took a short
cut.

< ———, Calculate.

1804 2 589 3 910 4 839 > 883
— 703 — 360 — 410 — 811 — (12

6. 583 7 308 & 175 ° 387 10 633
+ 213 + 421 + 400 + 611 + 166

1. 429 120 925 13. @52 14 793 15 676
- 300 -612 —101  —131  — 505

6. 922 17 874 18 372 19 685 20 801
+ 170 + 114 + 602 + 100 + 195

21. 199 22. 435 23 218 24 816 25 368
-~ 101 -230 -213 —716 - 232

26. 474 21. 980 28 964 29 947 30. 163
+ 114  + 107 + 105 + 130 + 814

© Facilitators Ferriswheel WS#:A&S403 Score:



L 804
— 703

101

6. 583
+ 213

796

11 429
— 300

129

16. Q2?2
+ 170

1,092

21 199
— 101

98

26. 474
+ 114

588

2. 589
— 360

229

’. 308
+ 421

/29

12. 025
— 612

313

17. 874
+ 114

988

2. 435
— 230

205

27980
+ 107

1,087

Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 403

Why did the barber win the race? Because he took a short

cut.

Calculate.

3. 910
— 410

00

8. 175
+ 400

975

13. 52
— 101

051

18 372
+ 602

974

2. 218
— 213

S

2. 964
+ 105

1,069

4839
— 811

28

9. 387
+ 611

998

14. 793
— 131

662

19. 685
+ 100

/85

24. 816
— 716

100

2. 947
+ 130

1,077

5. 883
- 772

111

10 633
+ 166

799

15 676
— 505

171

20. 801
+ 195

996

25. 368
— 232

136

30. 163
+ 814

977
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Score:



